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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

Oq 2¥CARE e

(@) Mention one need for studying
€COoNnomics.

GG SR O] AT T 4] |

(b) Define market economy.

519 SefAifed Az W3l |
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(c) What is elastic demand?

fefger o <2

(d) Draw the perfectly inelastic supply curve,
5Fqﬁ€ﬁﬁ@ﬂﬁ¢cmﬁﬂ<ﬁﬁﬂ%ﬁ!ﬂ§¥¢ay|'

(e) Define an inferior good.
ol ST e il |

() What is income consumption curve?

g Teret @4 2

(g) Distinguish between short run and long
run with the help of fixed and variable
costs.

7 e ARedEE R AR RS A
w1 T el Fiefa 34 |

(h) What is producer’s surplus?
CeAlrd Bga i 0

() “Supply curve is not relevant fof

monopoly.” Why?
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9
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() Why is the average fixed cost curve
rectangular hyperbola? :

o1C &1 24 @4IoE [ SEen 2[AIge 2 7

2. Answer the following questions briefly : 2x5=10
wHq oA by Ted T

(a) Distinguish between positive economics
and normative economics.

zefqifefas wefAife e Afefefes wdAifee T
orefes foefy <3 |

(b) State two exceptions of the law of
demand.

oifen Rficra 51 e ST 4 |

(c) Distinguish between ‘change in demand’
and ‘change in quantity demanded’.

‘bifenra “ifdada’ W ‘ifEwE AfweR ARedT’T
rErs <&y @y 34

(d) Prove that two indifference curves do not
intersect each other.
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.) wm is the long-run average cost C“WQ
U’ shaped?

i o1 T CIETH ‘U’ TP Ry oy

3. Answer any four of the following questionsg -

Sx4h20

o spcard R Careen o B fi

(a) What is budget line? Why does the
budget line slope downwards?

el R W A R T camfg
Y

(b) Distinguish Dbetween normal  goods,
substitute goods and complementary
goods.

e Tl Rew mEA W ek s
NS el fRefy

(c) What is monopoly? Explain why the
marginal revenue curve of a monopoly
lies below its average revenue curve.

GO T e | @Dy weaa MR
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pxplain the behaviour of prolit
iy maximizing firms  with  the help of

marginal revenue and marginal cost

approach.

e W O SIS A YA NS A1S
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(c) Explain that substitution effect is always
negative.

Qe ot QU Sl Qe M e |

() Derive demand curve for a Giffen good.
e A BIEHT (A1 CRCALD A Tl 9,
fore |

4. Answer the following questions @ 10x4=40

wHd SHCArad Baa bt
(@) Explain how the price system allocates
resources., 10

W OQRIE COCANCE NV Whd @, Al
41 |

Or/ wYyql
What are the main problems of an
economy? How does a [ree economy solve
them? 3+7=10
eIy ppiar @ R Y@ wlale
QAR 3 PPN CRCHTET NI DA ?
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: i lasticity of deman
Wha.t e e‘ ts;yDiscus B What
are its determinan S. Y,
Ts

1
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(b)

Or/ 9%l

Explain the concept of marginal rate of
substitution with the help of diagram
Why does marginal rate of SubStitutior;
diminish?

() Explain the determination of wages
under competitive labour market.

Ao ¥E qERe GR FHda oy
A 3 |

Or / 941

Derive input demand curves. Discuss the
factors responsible for shift in input
demand curves. 6+4=1(

CAMFA SR AR eeifa < < | SomER
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what is price rationing? Analyze the
impact of price rationing on the market,
2+8=10

WqﬂW‘lﬁ?W’lﬁW‘C‘lW\eﬂq@vﬁq
ot 2SI fAse 31 |

(d)

Or / g1

Discuss the factors responsible for shift
in the demand and supply curves. 5+5=10

SR S @A @ TR RRF Sz
AL 34 |

* k&

22A—2100/428 3 (Sem-1/CBCS) ECO HC 1




